Stock buyback program Information

Date: 13/01/2023

Bolsa Mexicana de Valores, S.A.B. de C.V., informs:

STOCK EXCHANGE CODE

PINFRA

NAME OF THE COMPANY

PROMOTORA Y OPERADORA DE INFRAESTRUCTURA,

S.A.B. DE C.V.

DATE OF THE OPERATION

13/01/2023

RESOURCES REMAINING

Up to the last Report	4,714,421,623
Currently	4,710,086,451

OPERATION FOR EACH OF THE SERIES

SERIES *

BROKERAGE GBM

BALANCES

	Treasury Shares	Shares in circulation	Shares charged to equity
To the last Report	0	380,123,523	49,882,294
To the present Report	0	380,123,523	49,906,546

OPERATIONS

Folio	Type of Operation	Number of Shares	Purchase Price	Value of the Purchase	Shares Under
72450	BUY	25	\$178.01	\$4,450	EQUITY
72451	BUY	115	\$178.02	\$20,472	EQUITY
72452	BUY	166	\$178.03	\$29,553	EQUITY
72453	BUY	53	\$178.04	\$9,436	EQUITY
72454	BUY	4	\$178.06	\$712	EQUITY
72455	BUY	201	\$178.07	\$35,792	EQUITY
72456	BUY	293	\$178.08	\$52,177	EQUITY
72457	BUY	110	\$178.09	\$19,590	EQUITY
72458	BUY	25	\$178.11	\$4,453	EQUITY
72459	BUY	50	\$178.14	\$8,907	EQUITY
72460	BUY	25	\$178.17	\$4,454	EQUITY
72461	BUY	26	\$178.18	\$4,633	EQUITY

72462	BUY	19	\$178.20	\$3,386	EQUITY
72463	BUY	227	\$178.21	\$40,454	EQUITY
72464	BUY	25	\$178.22	\$4,456	EQUITY
72465	BUY	118	\$178.23	\$21,031	EQUITY
72466	BUY	54	\$178.24	\$9,625	EQUITY
72467	BUY	16	\$178.25	\$2,852	EQUITY
72468	BUY	11	\$178.26	\$1,961	EQUITY
72469	BUY	11	\$178.27	\$1,961	EQUITY
72470	BUY	36	\$178.28	\$6,418	EQUITY
72471	BUY	32	\$178.29	\$5,705	EQUITY
72472	BUY	177	\$178.30	\$31,559	EQUITY
72473	BUY	51	\$178.31	\$9,094	EQUITY
72474	BUY	313	\$178.32	\$55,814	EQUITY
72475	BUY	137	\$178.33	\$24,431	EQUITY
72476	BUY	75	\$178.34	\$13,376	EQUITY
72477	BUY	234	\$178.36	\$41,736	EQUITY
72478	BUY	62	\$178.37	\$11,059	EQUITY
72479	BUY	150	\$178.38	\$26,757	EQUITY
72480	BUY	100	\$178.39	\$17,839	EQUITY
72481	BUY	35	\$178.40	\$6,244	EQUITY
72482	BUY	65	\$178.41	\$11,597	EQUITY
72483	BUY	111	\$178.42	\$19,805	EQUITY
72484	BUY	150	\$178.44	\$26,766	EQUITY
72485	BUY	45	\$178.45	\$8,030	EQUITY
72486	BUY	315	\$178.46	\$56,215	EQUITY
72487	BUY	11	\$178.47	\$1,963	EQUITY
72488	BUY	51	\$178.48	\$9,102	EQUITY
72489	BUY	342	\$178.49	\$61,044	EQUITY
72490	BUY	65	\$178.50	\$11,603	EQUITY
72491	BUY	183	\$178.51	\$32,667	EQUITY
72492	BUY	481	\$178.52	\$85,868	EQUITY
72493	BUY	331	\$178.53	\$59,093	EQUITY
72494	BUY	102	\$178.54	\$18,211	EQUITY

72495	BUY	273	\$178.55	\$48,744	EQUITY
72496	BUY	55	\$178.56	\$9,821	EQUITY
72497	BUY	37	\$178.57	\$6,607	EQUITY
72498	BUY	176	\$178.58	\$31,430	EQUITY
72499	BUY	18	\$178.59	\$3,215	EQUITY
72500	BUY	193	\$178.60	\$34,470	EQUITY
72501	BUY	77	\$178.61	\$13,753	EQUITY
72502	BUY	154	\$178.63	\$27,509	EQUITY
72503	BUY	336	\$178.64	\$60,023	EQUITY
72504	BUY	95	\$178.65	\$16,972	EQUITY
72505	BUY	98	\$178.66	\$17,509	EQUITY
72506	BUY	9887	\$178.67	\$1,766,510	EQUITY
72507	BUY	135	\$178.70	\$24,125	EQUITY
72508	BUY	62	\$178.71	\$11,080	EQUITY
72509	BUY	196	\$178.72	\$35,029	EQUITY
72510	BUY	11	\$178.74	\$1,966	EQUITY
72511	BUY	10	\$178.75	\$1,788	EQUITY
72512	BUY	137	\$178.77	\$24,491	EQUITY
72513	BUY	114	\$178.80	\$20,383	EQUITY
72514	BUY	208	\$178.82	\$37,195	EQUITY
72515	BUY	50	\$178.83	\$8,942	EQUITY
72516	BUY	21	\$178.84	\$3,756	EQUITY
72517	BUY	29	\$178.85	\$5,187	EQUITY
72518	BUY	90	\$178.86	\$16,097	EQUITY
72519	BUY	11	\$178.87	\$1,968	EQUITY
72520	BUY	304	\$178.88	\$54,380	EQUITY
72521	BUY	108	\$178.89	\$19,320	EQUITY
72522	BUY	96	\$178.90	\$17,174	EQUITY
72523	BUY	198	\$178.91	\$35,424	EQUITY
72524	BUY	68	\$178.92	\$12,167	EQUITY
72525	BUY	195	\$178.93	\$34,891	EQUITY
72526	BUY	20	\$178.94	\$3,579	EQUITY
72527	BUY	100	\$178.95	\$17,895	EQUITY

72528	BUY	206	\$178.96	\$36,866	EQUITY
72529	BUY	25	\$178.97	\$4,474	EQUITY
72530	BUY	76	\$178.98	\$13,602	EQUITY
72531	BUY	317	\$178.99	\$56,740	EQUITY
72532	BUY	133	\$179.00	\$23,807	EQUITY
72533	BUY	131	\$179.02	\$23,452	EQUITY
72534	BUY	25	\$179.04	\$4,476	EQUITY
72535	BUY	5	\$179.05	\$895	EQUITY
72536	BUY	207	\$179.06	\$37,065	EQUITY
72537	BUY	205	\$179.08	\$36,711	EQUITY
72538	BUY	100	\$179.13	\$17,913	EQUITY
72539	BUY	128	\$179.14	\$22,930	EQUITY
72540	BUY	212	\$179.15	\$37,980	EQUITY
72541	BUY	59	\$179.16	\$10,570	EQUITY
72542	BUY	26	\$179.17	\$4,658	EQUITY
72543	BUY	115	\$179.18	\$20,606	EQUITY
72544	BUY	24	\$179.20	\$4,301	EQUITY
72545	BUY	18	\$179.21	\$3,226	EQUITY
72546	BUY	69	\$179.22	\$12,366	EQUITY
72547	BUY	97	\$179.23	\$17,385	EQUITY
72548	BUY	44	\$179.24	\$7,887	EQUITY
72549	BUY	97	\$179.25	\$17,387	EQUITY
72550	BUY	1	\$179.26	\$179	EQUITY
72551	BUY	5	\$179.27	\$896	EQUITY
72552	BUY	100	\$179.28	\$17,928	EQUITY
72553	BUY	106	\$179.30	\$19,006	EQUITY
72554	BUY	254	\$179.31	\$45,545	EQUITY
72555	BUY	10	\$179.32	\$1,793	EQUITY
72556	BUY	30	\$179.33	\$5,380	EQUITY
72557	BUY	165	\$179.34	\$29,591	EQUITY
72558	BUY	100	\$179.35	\$17,935	EQUITY
72559	BUY	196	\$179.37	\$35,157	EQUITY
72560	BUY	15	\$179.38	\$2,691	EQUITY

72561	BUY	43	\$179.39	\$7,714	EQUITY
72562	BUY	25	\$179.40	\$4,485	EQUITY
72563	BUY	184	\$179.41	\$33,011	EQUITY
72564	BUY	4	\$179.42	\$718	EQUITY
72565	BUY	107	\$179.43	\$19,199	EQUITY
72566	BUY	100	\$179.44	\$17,944	EQUITY
72567	BUY	110	\$179.45	\$19,740	EQUITY
72568	BUY	32	\$179.46	\$5,743	EQUITY
72569	BUY	307	\$179.47	\$55,097	EQUITY
72570	BUY	80	\$179.48	\$14,358	EQUITY
72571	BUY	53	\$179.49	\$9,513	EQUITY
72572	BUY	39	\$179.50	\$7,001	EQUITY
72573	BUY	13	\$179.52	\$2,334	EQUITY
72574	BUY	100	\$179.53	\$17,953	EQUITY
72575	BUY	20	\$179.54	\$3,591	EQUITY
72576	BUY	5	\$179.55	\$898	EQUITY
72577	BUY	125	\$179.56	\$22,445	EQUITY
72578	BUY	77	\$179.60	\$13,829	EQUITY
72579	BUY	5	\$179.61	\$898	EQUITY
72580	BUY	10	\$179.64	\$1,796	EQUITY
72581	BUY	25	\$179.65	\$4,491	EQUITY
72582	BUY	5	\$179.66	\$898	EQUITY
72583	BUY	64	\$179.67	\$11,499	EQUITY
72584	BUY	95	\$179.69	\$17,071	EQUITY
72585	BUY	289	\$179.70	\$51,933	EQUITY
72586	BUY	16	\$179.71	\$2,875	EQUITY
72587	BUY	34	\$179.72	\$6,110	EQUITY
72588	BUY	102	\$179.77	\$18,337	EQUITY
72589	BUY	92	\$179.80	\$16,542	EQUITY
		I .	i		1

SERIES L

BROKERAGE

BALANCES

Trancury Shares	Shares in circulation	Sharos charged to equity
Treasury Shares	Snares in circulation	I Shares charged to equity

To the last Report	0	49,416,058	2,527,823
To the present Report	0	49,416,058	2,527,823

OPERATIONS

Folio	Type of Operation	Number of Shares	Purchase Price	Value of the Purchase	Shares Under
-------	----------------------	------------------	-------------------	--------------------------	--------------